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9. F
(
x, y(x), y

(√
a2 – x2

))
= 0, 0 ≤ x ≤ a.

On substituting
√

a2 − x2 for x, we obtain

F
(√

a2 − x2, y
(√

a2 − x2
)
, y(x)

)
= 0.

On eliminatingy
(√

a2 − x2
)

from this equation and the original one, we arrive at an ordinary
algebraic (or transcendental) equation of the formΨ

(
x,y(x)

)
= 0.

In other words, the solution of the original functional equation,y = y(x), is determined para-
metrically by the system of two algebraic (transcendental) equations

F (x, y, t) = 0, F
(√

a2 − x2, t, y
)

= 0,

wheret is the parameter.
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